Challenges - Wednesday 22nd April
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Max jumped 2.26 metres on his second try at the long jump.

This was 75 centimetres longer than on his first try

How far in metres did he jump on his first try?
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Alex says,

s 3105 is greater than 3.2
@ because 105 is greater
than 2

Do you agree?
Explain your answer.
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Tommy says,

| have put some numbers into
ascending order:

3015
51
1000

3105

51
100

©0)
Tommy has missed one number out.
It should go in the middle of this list.

What could his number be?
What can't his number be?
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Circle all the numbers that are greater than 0.6

0.5 0.8 0.23
0.09 0.67
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On sports day children get points for how far
they jump.

Standing Long Jump

Over 80cm 1 point
Over  100cm 2 points
Over  120cm 3 points
Over  140cm 4 points
Over  160cm 5 points
Over  180cm 6 points

Joe jumped 138cm.

How many points does he get?
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The first two numbers in this sequence are 2.1
and2.2

The sequence then follows the rule

“to get the next number, add the two
previous numbers'

Write in the next two numbers in the sequence.

21 22 43 65





